

BIDS - NEEL BRIDGE, C.R.B.P. No. 7005-07.44(2), AUGUST 8, 2011 @ 11:00 a.m.

		BIDDERS:		ENGINEER'S ESTIMATE		HARRY JOHNSON		HALME BUILDERS		APOLLO, INC.		DL EDMONDSON	
ITEM NO.	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	MOBILIZATION	1.00	L.S.	\$ 40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$46,000.00	\$46,000.00	\$48,000.00	\$48,000.00
2	CLEARING AND GRUBBING	1.00	L.S.	\$ 3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
3	REMOVING EXISTING BRIDGE	1.00	L.S.	\$ 10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	ROADWAY EXCAVATION INCL. HAUL	257.00	C.Y.	\$ 9.00	\$2,313.00	\$8.00	\$2,056.00	\$22.00	\$5,654.00	\$8.40	\$2,158.80	\$15.00	\$3,855.00
5	COMMON BORROW INCL. HAUL	970.00	TON	\$ 10.00	\$9,700.00	\$22.00	\$21,340.00	\$14.00	\$13,580.00	\$8.80	\$8,536.00	\$15.00	\$14,550.00
6	EMBANKMENT COMPACTION	491.00	C.Y.	\$ 3.00	\$1,473.00	\$2.00	\$982.00	\$2.00	\$982.00	\$3.50	\$1,718.50	\$2.00	\$982.00
7	CHANNEL EXCAVATION INCL. HAUL	50.00	C.Y.	\$ 13.00	\$650.00	\$20.00	\$1,000.00	\$21.00	\$1,050.00	\$22.90	\$1,145.00	\$10.00	\$500.00
8	FILTER BLANKET	85.00	C.Y.	\$ 25.00	\$2,125.00	\$20.00	\$1,700.00	\$25.00	\$2,125.00	\$37.75	\$3,208.75	\$30.00	\$2,550.00
9	HEAVY LOOSE RIPRAP	203.00	C.Y.	\$ 35.00	\$7,105.00	\$24.00	\$4,872.00	\$25.00	\$5,075.00	\$51.00	\$10,353.00	\$55.00	\$11,165.00
10	STRUCTURE EXCAVATION CLASS A INCL. HAUL	584.00	C.Y.	\$ 14.00	\$8,176.00	\$12.00	\$7,008.00	\$7.00	\$4,088.00	\$16.50	\$9,636.00	\$10.00	\$5,840.00
11	SHORING OR EXTRA EXCAVATION CL. A	1.00	L.S.	\$ 3,500.00	\$3,500.00	\$500.00	\$500.00	\$3,400.00	\$3,400.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00
12	GRAVEL BACKFILL FOR WALL	244.00	C.Y.	\$ 40.00	\$9,760.00	\$30.00	\$7,320.00	\$22.00	\$5,368.00	\$33.00	\$8,052.00	\$40.00	\$9,760.00
13	ST. REINF. BAR FOR BRIDGE	17,225.00	LB.	\$ 2.00	\$34,450.00	\$1.00	\$17,225.00	\$1.00	\$17,225.00	\$1.00	\$17,225.00	\$1.00	\$17,225.00
14	SUPERSTRUCTURE	1.00	L.S.	\$ 233,000.00	\$233,000.00	\$174,196.00	\$174,196.00	\$175,000.00	\$175,000.00	\$196,000.00	\$196,000.00	\$160,414.00	\$160,414.00
15	CONC. CLASS 4000 FOR BRIDGE	121.00	C.Y.	\$ 740.00	\$89,540.00	\$425.00	\$51,425.00	\$400.00	\$48,400.00	\$451.00	\$54,571.00	\$500.00	\$60,500.00
16	CRUSHED SURFACING BASE COURSE	428.00	TON	\$ 21.00	\$8,988.00	\$21.00	\$8,988.00	\$22.00	\$9,416.00	\$22.50	\$9,630.00	\$22.00	\$9,416.00
17	CRUSHED SURFACING TOP COURSE	440.00	TON	\$ 21.00	\$9,240.00	\$21.00	\$9,240.00	\$22.00	\$9,680.00	\$24.60	\$10,824.00	\$25.00	\$11,000.00
18	COMMERCIAL HMA	116.00	TON	\$ 130.00	\$15,080.00	\$105.00	\$12,180.00	\$114.00	\$13,224.00	\$106.00	\$12,296.00	\$100.00	\$11,600.00
19	SAWCUT EXISTING BST	44.00	L.F.	\$ 8.00	\$352.00	\$4.00	\$176.00	\$5.00	\$220.00	\$9.00	\$396.00	\$5.00	\$220.00
20	SILT FENCE	160.00	L.F.	\$ 7.00	\$1,120.00	\$2.00	\$320.00	\$6.50	\$1,040.00	\$5.00	\$800.00	\$5.00	\$800.00
21	ESC LEAD	20.00	DAY	\$ 180.00	\$3,600.00	\$150.00	\$3,000.00	\$165.00	\$3,300.00	\$50.00	\$1,000.00	\$100.00	\$2,000.00

BIDS - NEEL BRIDGE, C.R.B.P. No. 7005-07.44(2), AUGUST 8, 2011 @ 11:00 a.m.

		BIDDERS:		ENGINEER'S ESTIMATE		HARRY JOHNSON		HALME BUILDERS		APOLLO, INC.		DL EDMONDSON	
ITEM NO.	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
22	SEEDING, FERTILIZING, AND MULCHING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$2,800.00	\$2,800.00	\$4,900.00	\$4,900.00	\$4,000.00	\$4,000.00
23	BEAM GUARDRAIL NON-FLARED TERMINAL	4.00	EACH	\$ 3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$2,600.00	\$10,400.00	\$2,360.00	\$9,440.00	\$2,400.00	\$9,600.00
24	BEAM GUARDRAIL TRANSITION SECTION TYPE T10	4.00	EACH	\$ 1,500.00	\$6,000.00	\$1,300.00	\$5,200.00	\$1,300.00	\$5,200.00	\$1,230.00	\$4,920.00	\$1,200.00	\$4,800.00
25	PAINT LINE	1,326.00	L.F.	\$ 1.00	\$1,326.00	\$2.25	\$2,983.50	\$0.75	\$994.50	\$1.00	\$1,326.00	\$0.50	\$663.00
26	PROJECT TEMPORARY TRAFFIC CONTROL	1.00	L.S.	\$ 4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$5,200.00	\$5,200.00	\$12,000.00	\$12,000.00
27	WATER	100.00	MGAL	\$ 21.00	\$2,100.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00	\$23.00	\$2,300.00	\$50.00	\$5,000.00
28	STRUCTURE SURVEYING	1.00	L.S.	\$ 6,000.00	\$6,000.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00
29	ROADWAY SURVEYING	1.00	L.S.	\$ 5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$4,300.00	\$4,300.00	\$5,000.00	\$5,000.00
30	TRIMMING AND CLEANUP	1.00	L.S.	\$ 2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00	\$4,000.00	\$4,000.00
31	CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION	497.00	S.Y.	\$ 3.50	\$1,739.50	\$2.00	\$994.00	\$2.75	\$1,366.75	\$2.00	\$994.00	\$2.00	\$994.00
32	SPCC PLAN	1.00	L.S.	\$ 1,250.00	\$1,250.00	\$500.00	\$500.00	\$900.00	\$900.00	\$350.00	\$350.00	\$1,000.00	\$1,000.00
33	REMOVE EXISTING FENCE	1,000.00	L.F.	\$ 2.00	\$2,000.00	\$2.00	\$2,000.00	\$1.50	\$1,500.00	\$1.50	\$1,500.00	\$4.00	\$4,000.00
34	RESET EXISTING FENCE	500.00	L.F.	\$ 6.00	\$3,000.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$4.60	\$2,300.00	\$4.00	\$2,000.00
35	WIRE FENCE - TYPE A	1,300.00	L.F.	\$ 15.00	\$19,500.00	\$6.50	\$8,450.00	\$5.00	\$6,500.00	\$7.70	\$10,010.00	\$8.00	\$10,400.00
36	TEMPORARY FENCE	500.00	L.F.	\$ 8.00	\$4,000.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$4.10	\$2,050.00	\$4.00	\$2,000.00
37	DETOUR CONSTRUCTION AND REMOVAL	1.00	L.S.	\$ 21,152.00	\$21,152.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00
	BASIS OF AWARD: TOTAL BID ITEMS 1-37				\$586,739.50		\$412,655.50		\$460,188.25		\$490,991.05		\$492,834.00

BIDS - NEEL BRIDGE, C.R.B.P. No. 7005-07.44(2), AUGUST 8, 2011 @ 11:00 a.m.

		BIDDERS:		ENGINEER'S ESTIMATE		HLT CONST.		WILLIAM CHARLES WEST		WEST COMPANY		NA DEGERSTROM	
ITEM NO.	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	MOBILIZATION	1.00	L.S.	\$ 40,000.00	\$40,000.00	\$39,500.00	\$39,500.00	\$55,000.00	\$55,000.00	\$56,000.00	\$56,000.00	\$59,000.00	\$59,000.00
2	CLEARING AND GRUBBING	1.00	L.S.	\$ 3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,300.00	\$1,300.00
3	REMOVING EXISTING BRIDGE	1.00	L.S.	\$ 10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
4	ROADWAY EXCAVATION INCL. HAUL	257.00	C.Y.	\$ 9.00	\$2,313.00	\$15.00	\$3,855.00	\$8.40	\$2,158.80	\$20.00	\$5,140.00	\$12.00	\$3,084.00
5	COMMON BORROW INCL. HAUL	970.00	TON	\$ 10.00	\$9,700.00	\$9.00	\$8,730.00	\$16.00	\$15,520.00	\$10.00	\$9,700.00	\$10.00	\$9,700.00
6	EMBANKMENT COMPACTION	491.00	C.Y.	\$ 3.00	\$1,473.00	\$8.00	\$3,928.00	\$3.20	\$1,571.20	\$5.00	\$2,455.00	\$8.00	\$3,928.00
7	CHANNEL EXCAVATION INCL. HAUL	50.00	C.Y.	\$ 13.00	\$650.00	\$10.00	\$500.00	\$12.20	\$610.00	\$10.00	\$500.00	\$6.00	\$300.00
8	FILTER BLANKET	85.00	C.Y.	\$ 25.00	\$2,125.00	\$25.00	\$2,125.00	\$45.00	\$3,825.00	\$40.00	\$3,400.00	\$43.00	\$3,655.00
9	HEAVY LOOSE RIPRAP	203.00	C.Y.	\$ 35.00	\$7,105.00	\$30.00	\$6,090.00	\$55.00	\$11,165.00	\$60.00	\$12,180.00	\$65.00	\$13,195.00
10	STRUCTURE EXCAVATION CLASS A INCL. HAUL	584.00	C.Y.	\$ 14.00	\$8,176.00	\$10.00	\$5,840.00	\$8.00	\$4,672.00	\$30.00	\$17,520.00	\$15.00	\$8,760.00
11	SHORING OR EXTRA EXCAVATION CL. A	1.00	L.S.	\$ 3,500.00	\$3,500.00	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
12	GRAVEL BACKFILL FOR WALL	244.00	C.Y.	\$ 40.00	\$9,760.00	\$30.00	\$7,320.00	\$50.00	\$12,200.00	\$30.00	\$7,320.00	\$40.00	\$9,760.00
13	ST. REINF. BAR FOR BRIDGE	17,225.00	LB.	\$ 2.00	\$34,450.00	\$1.10	\$18,947.50	\$1.18	\$20,325.50	\$1.00	\$17,225.00	\$1.50	\$25,837.50
14	SUPERSTRUCTURE	1.00	L.S.	\$ 233,000.00	\$233,000.00	\$192,950.00	\$192,950.00	\$193,000.00	\$193,000.00	\$176,000.00	\$176,000.00	\$200,000.00	\$200,000.00
15	CONC. CLASS 4000 FOR BRIDGE	121.00	C.Y.	\$ 740.00	\$89,540.00	\$750.00	\$90,750.00	\$400.00	\$48,400.00	\$700.00	\$84,700.00	\$800.00	\$96,800.00
16	CRUSHED SURFACING BASE COURSE	428.00	TON	\$ 21.00	\$8,988.00	\$15.00	\$6,420.00	\$20.00	\$8,560.00	\$20.00	\$8,560.00	\$27.00	\$11,556.00
17	CRUSHED SURFACING TOP COURSE	440.00	TON	\$ 21.00	\$9,240.00	\$18.00	\$7,920.00	\$20.00	\$8,800.00	\$20.00	\$8,800.00	\$27.00	\$11,880.00
18	COMMERCIAL HMA	116.00	TON	\$ 130.00	\$15,080.00	\$115.00	\$13,340.00	\$111.00	\$12,876.00	\$97.00	\$11,252.00	\$180.00	\$20,880.00
19	SAWCUT EXISTING BST	44.00	L.F.	\$ 8.00	\$352.00	\$5.00	\$220.00	\$16.00	\$704.00	\$4.00	\$176.00	\$5.00	\$220.00
20	SILT FENCE	160.00	L.F.	\$ 7.00	\$1,120.00	\$6.00	\$960.00	\$3.90	\$624.00	\$6.00	\$960.00	\$6.00	\$960.00
21	ESC LEAD	20.00	DAY	\$ 180.00	\$3,600.00	\$100.00	\$2,000.00	\$91.00	\$1,820.00	\$50.00	\$1,000.00	\$60.00	\$1,200.00

BIDS - NEEL BRIDGE, C.R.B.P. No. 7005-07.44(2), AUGUST 8, 2011 @ 11:00 a.m.

		BIDDERS:		ENGINEER'S ESTIMATE		HLT CONST.		WILLIAM CHARLES WEST		WEST COMPANY		NA DEGERSTROM	
ITEM NO.	DESCRIPTION	ESTIMATED QUANTITIES	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
22	SEEDING, FERTILIZING, AND MULCHING	1.00	L.S.	\$ 2,500.00	\$2,500.00	\$4,400.00	\$4,400.00	\$3,000.00	\$3,000.00	\$1,850.00	\$1,850.00	\$5,000.00	\$5,000.00
23	BEAM GUARDRAIL NON-FLARED TERMINAL	4.00	EACH	\$ 3,000.00	\$12,000.00	\$2,550.00	\$10,200.00	\$2,500.00	\$10,000.00	\$2,350.00	\$9,400.00	\$2,500.00	\$10,000.00
24	BEAM GUARDRAIL TRANSITION SECTION TYPE T10	4.00	EACH	\$ 1,500.00	\$6,000.00	\$1,350.00	\$5,400.00	\$1,300.00	\$5,200.00	\$1,225.00	\$4,900.00	\$1,300.00	\$5,200.00
25	PAINT LINE	1,326.00	L.F.	\$ 1.00	\$1,326.00	\$1.30	\$1,723.80	\$1.50	\$1,989.00	\$0.65	\$861.90	\$0.80	\$1,060.80
26	PROJECT TEMPORARY TRAFFIC CONTROL	1.00	L.S.	\$ 4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
27	WATER	100.00	MGAL	\$ 21.00	\$2,100.00	\$30.00	\$3,000.00	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$50.00	\$5,000.00
28	STRUCTURE SURVEYING	1.00	L.S.	\$ 6,000.00	\$6,000.00	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
29	ROADWAY SURVEYING	1.00	L.S.	\$ 5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$6,000.00	\$6,000.00
30	TRIMMING AND CLEANUP	1.00	L.S.	\$ 2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
31	CONSTRUCTION GEOTEXTILE FOR SOIL STABILIZATION	497.00	S.Y.	\$ 3.50	\$1,739.50	\$2.50	\$1,242.50	\$1.25	\$621.25	\$2.50	\$1,242.50	\$5.00	\$2,485.00
32	SPCC PLAN	1.00	L.S.	\$ 1,250.00	\$1,250.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$600.00	\$600.00
33	REMOVE EXISTING FENCE	1,000.00	L.F.	\$ 2.00	\$2,000.00	\$2.00	\$2,000.00	\$1.00	\$1,000.00	\$1.40	\$1,400.00	\$2.00	\$2,000.00
34	RESET EXISTING FENCE	500.00	L.F.	\$ 6.00	\$3,000.00	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$3.90	\$1,950.00	\$4.00	\$2,000.00
35	WIRE FENCE - TYPE A	1,300.00	L.F.	\$ 15.00	\$19,500.00	\$6.00	\$7,800.00	\$4.30	\$5,590.00	\$3.70	\$4,810.00	\$4.00	\$5,200.00
36	TEMPORARY FENCE	500.00	L.F.	\$ 8.00	\$4,000.00	\$5.00	\$2,500.00	\$2.70	\$1,350.00	\$3.50	\$1,750.00	\$4.50	\$2,250.00
37	DETOUR CONSTRUCTION AND REMOVAL	1.00	L.S.	\$ 21,152.00	\$21,152.00	\$30,000.00	\$30,000.00	\$55,000.00	\$55,000.00	\$50,000.00	\$50,000.00	\$37,000.00	\$37,000.00
	BASIS OF AWARD: TOTAL BID ITEMS 1-37				\$586,739.50		\$511,361.80		\$540,181.75		\$560,052.40		\$594,311.30